
AN INTERSTELLAR CLOUD TIME

A FEW MILLIONS YEARS AGO, IN 
A GIANT INTERSTELLAR CLOUD…

THE CLOUD MAINLY CONTAINS 
DIHYDROGEN AND MORE THAN 
140 OTHER MOLECULES.

IT IS COLD AND NOT VERY 
DENSE.

IT IS OPAQUE IN VISIBLE LIGHT… … BUT TRANSPARENT IN INFRARED LIGHT.

IN THIS CLOUD, TWO INTERACTIONS FIGHT :
GRAVITY ATTRACTS THE PARTICLES BUT GAS 
PRESSURE COUNTERACTS GRAVITY AND PUSHES 
THEM BACK.

THE FORCES ARE BALANCED OUT : GRAVITY 
COMPRESSES THE CLOUD AND PRESSURE DILATES IT.

STARS GIVE OFF RADIATION,
HEATING UP THE SURFACE OF THE CLOUD.

AND SO IT GETS COLDER AS YOU GET TO THE 
HEART OF THE CLOUD.

TO MAKE A STAR, WE NEED :

GLUE HERE GLUE HERE

FOLDCUT

STAR



COLLAPSE

RADIATION

HEATENERGY

THE CLOUD BECOMES OPAQUE 
IN INFRARED LIGHT.

NO MORE ENERGY ESCAPES 
AND THE HEART OF THE CLOUD 
CONSIDERABLY HEATS UP…

TO THE POINT OF TRIGGERING 
NUCLEAR FUSIONS !

A STAR IS BORN !

IN THE COLDER AREAS… PRESSURE DECREASES… SO THAT GRAVITY HAS THE 
UPPER HAND.

THE CENTRAL PARTS OF THE CLOUD COLLAPSE UNDER THEIR OWN GRAVITY.

WHEN A GAS COLLAPSES, IT GETS HOTTER. WHEN IT GETS HOTTER, IT RADIATES. WHEN IT RADIATES, IT LOSES 
ENERGY. WHEN IT LOSES ENERGY, IT COLLAPSES…

BUT! ONCE THIS CYCLE STOPS…

GLUE HERE


